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↳ left coset of 812 in 12
.

Consider 4 : 12/812 - Rs

yl at 82) =.

g-
* 4 Well - defined ? I

e -9 . 3-1812=11+8/2

need to check Sps at 812=6+812 (NTS :
this blc

multiple Then ( property of coset)
ways to

represent
a coset, so 81 a - b and thus

and formula for [
by earlier exercise

y is

based on Therefore y( a-1812) = glbt 812) , so y is well - defined .
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representative.

Now
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check 9 I - I
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and operation -preserving .

Tined for isomorphism .
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proof :
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a mod 8 .

amod 8= b.mod 8 ,
ie
. da -1812 )

a
- b e 812 = gas-1812))

a mod 8 -- bmod 8
.



4 : 12/812 → 128
y l - l ? yCat8X)=amod€

Sps y(at 8121=4Cbt 812) ,

ie
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amod 8 -- bmod 8 .

Then so a - be
, thus

4 onto ? Yes . 12g:{ 0 , 1,2, 3.4.5 ,
6,7 } .

Sps at 2g .

Consider a as an integer.

Then a = 4 ( )
,
so 4 onto .
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show x--y .

Sla - b 812 a -1812 = b -1812!
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Y : 12/812 → 128
y operation - preserving ? yCat8D=amod€
y ( (at 812) t (b -1812)) = q ( catb) t 812) Coiddn in 2/8,2)

= (at b) mod 8 (deth of y)
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